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(tog (Vo + Vo +1)) SN CER)

(i) 0<z<20& &, f(z)>0, gl)=1-2=50
r>20LE, f(z)>0, g() >0, (f(x))*—(9(z))* >0

(iv) 4 —2log2



(1) AP=sAB+ tAC
AB.AD = (sﬁ—l-tﬁ)-ﬁ:sﬁ-ﬁ—i—tﬁ-ﬁ
= = S((b1b203 - 515203) + (510253 - 510253) + (Clb2b3 - Cleb?)))
-+ t((Clcgbg — Clcgbg) + (Clb203 — 616203) + <b10203 — 610203>):O
(ii) 6v/3

(iii) (1, 3, 4)
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(i) by, = n? +2n+ Zbk —n + n +—n

6
(i1) sinnf +sin(n+ 1) +sin(n+2)0 =0 (n=1,2,---, 0< 0 <7) Zf#<
2m
g— T
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(iii) (ii-1) lim
n—=00 Up41

b Vn+2+vn+1
Ant1 vn+3++n

bn > Ap41

(iii-2) D EE, 731 D)5 D7 % Hs

(iv) (iv-1) apy1 = —2a, +6
- -2 —1
(iv-2) b, = 2 — (_2)71—17 Z by = 2n + L

k=1



